HEIGHTSAFE"®

1500
-2000mm 41 x 41 Unistrut
Fixed to roof using existing
M8 x 100 roofing screws
Late Fixings
4 xM12x 35
4 x M12 Flat Washer
4 x M12 Channel Nut
[\ ‘e | T e L0
g 2 Hole Unistrut Bracket
e - M12 x 35
e e m12 Flat Washer
x| e . .. .o [ee M12 Channel Nut
all Angel Base Plate
&  components




